6. filn i 2

(1) FEHREEOHE B ZEI Y B RRFEORE 2OV T, i 72k HiEIic kv,
IS0 & DR OWE, BiAn %2 I L7z,

Ol AN
A H B Af e Fe AT Hhdsk PEH
4 A 8 H BT A 3cm 2,500 % | #EHTH (="
4 A 19 H 1= 1 Ocm 20,0002 | ¥/ BHT 853
6 H 18 H FINH 1 Ocm 6,000 | &Rt NI
18 H XK 1 O0cm 5,500 % | YgtHmT Kb
28 H FUNH 1 Ocm 10,000/ | 7§ / SHT Kb
8 H 13 H 7YY 50ke | #AYLTH REA
9 H A| A 850 ke | HHZETH JLHE
H AUHx 4, 7008 | P8/ F5HT (="
10 H AUHx 1,800 | 14/ J&HT (="
10 H AT HF 1, 8004 | FnFAt [y
10 BH| AUFF 9, 200 4% | ¥ t-HT (="
11 H AT HF 5, 2004 | #AYLTH [y
11 A AUHx 3, 0004 | 78 / HT (="
12 H AUHx 2,900 42 | ¥/ F5HT (="
12 B| 4 560 ke | HHZETH JLHE
13 BH| AUH* 25, 600 f | vig LT [P
13 H AT HF 2,600 4% | 74/ 51T [y
17 H AT HF 1,900 | 75/ [SHT [y
17 H A 290ke | HZET RS
19 H AUHx 1, 550 4% | Rl o> 51T (="
20 H AUHx 1,200 | P4/ 1T (="
10 A 4 H| Rzrv= lem 70,0001# | HZEH e
29 H AT HF 1,900 | 75/ JSHT [y
30 H AT HF 1,650 8 | 18/ [SHT [y
30 H AUHx T50 85 | FRAT (="
31 H AUHx 11, 450 £ | AT (="
11 A 1 H AUHx 550 44 | Rl o> S HT (="
1 H AT HF 1,050 8 | 5 7 [SHT [y
5 H AT HF 1, 6504 | 74 / S HT (A=
6 H AT HF 2, 00045 | AL [y
7 H 7 ¥ 70 ke | FAYLTT B
A H B Af e i Fe AT Hhdsk PEH
11 A H e 2508 | 74/ ST (=
H| AU0% 2, 350 4% | g t-HT [P
11 A Ava S 200 kg | #AYLTT =10
20 H ISP 77 A 20/ | AT T
21 H ISP 77 A 11 F | i T
12 A 2 H AT g A 10 Fe | Fil; o> BT 1
2 H| WMULA 4R | RN {h3=
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TAY =
AT X
AT X
AT X
AT *
AT *
AT *
AT X
AT X
F=Aat
AT *
AT *

AU F (HMERE &)

a7

100 ke

2cm 36, 000 &
1, 400 #¢

1, 150 #¢

450 £

400 #¢

500 4%

1, 750 #¢

850 %

900 2

5cm 30, 000 2
1, 500 #¢
7, 450 K¢
800 Kt
180m

ATATTE2. 5em 50,000

fa7 v

ra7rve
ra7rve
rarve
r7ua7rve
rua7rve

rsaryvur

ATATIE

VA
ra7rve
VoA
F=Aat
XK
ra7rve
ruarve
J Y=

AHTATOIE

rsaryur
/aryur

AHTATIE

rsaryur

2. 5cem 12,000 f#
3cm 10, 0001#

3em 7,050 1@
3cm 14, 900 f#
3cm 3, 000 &
3cm 10, 000 &
3cm 5, 0001
3cm  5,0001#

790 kg

3cm 8, 8001#
1 Ocm 19,200 %
5cm 3,000 %
1 O0cm 1,000 %
3cm 15, 0001#
3cm 11, 5001#
1 Ocm 20, 000 2
3cm 35, 000 f#
3cm 28, 000 f#
3cm 8, 5001
3cem 1, 0001#
3cm 25, 0001#
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O il & 5t 5K

R HE T K& S, Bk B Fic A FR A2
a=-varas 3em 146, 750 {# 15 HIfA
AHAT L 2.5cm 50, 000 1 &
AHATOIE 3em 41, 000 & 3 1A
AT H*x 10 {8 LA _EAS 75 102, 200 £ 30 [H{A
= 10cm 59, 200 J& 2 [k
XN 10cm 22,500 J& 4 [R
F=Fa¥ 5 cm 33, 000 J& 2 [k
ThT= 2 cm 36, 000 1 1 [ A
N7 = lem 70, 000 {3 1 [ A
N KA 1,700 kg 1 A
A KA 890 ke 2 [
=7 2. 5cm 12, 000 & 1 [k
7Y KA 50 ke 1 [
v KA 270 ke 1 F&
MY A 17m /# 45 4 [
a7 il 4 180m 3 Hk
BT A 3cm 2,500 J& 1 [ A

F A 10 em

— AR AR A A5V CRAT

FNA 10 em

WA 12 C s
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